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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.

(2) Answer all the questions on the basis of internal
option.

1  Discuss the effects of mechanization, technology and 14
modernization on employment in India.

OR

1 Give the meaning and definition of industrial relation and 14
explain the importance of industrial relation.

2 Explain the failures of Trade unions in India. 14
OR
2  What is social security? Evaluate the concept of social 14

security in India.

3 Explain the main problems of child labours and female 14
labours in India.

OR
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3 Give the meaning of labour union and explain the 14
functions of labour union.

4  Give the meaning of unemployment and explain the causes 14
of unemployment in India.

OR
4  What is industrial disputes ? Narrate the types of 14
industrial disputes.
5  Write short note on any two from following : 14

(1) Current employment policy of India.
(2) Weakness of labour unions
(3) Relations between Employment and Development

(4) Various types of strikes.
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